Year Group: 2

Maths

Place Value and number bonds

Numbers to 100.

30 40

60 70 80

0+20 = 20
1+19=20
2+18 =20

4+16 = 20
5+15=20
6+14 = 20
7+13 =20
8+12 =20
9+11 =20

Number Bonds to 20

There are 21 ways to make 20.

10+10 =20

20+0 = 20
19+1 =20
1842 =20
16+4 = 20
1545 =20
14+6 = 20
13+7 =20

12+8 = 20
1149 =20

Number Knowledge
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MULTIPLICATION PRVASTON
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Add Calculation
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Subtract
47-23: 24
24 25 26 27

Using rods (par"ri’rioning in different wuys)

42 is how

partitioned

42-27 as 30+ 12
Multiply
Hx3:zh+H+h
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Measure

Fractions

Maths
Year Group: 2

Add and subtract money and give change

Shape
3D shape
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3 slices in 1 pizza 4 slices in 1 pizza
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2D shape
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circle oval friangle square trapezium

o=

diamond rhombus parallelogram rectangle  pentagon
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hexagon heptagon octagon nonagon

Interpreting data

PICTOGRAMS

Key:: 7 means 1 child

Fractions of amounts
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